EARAROBEEIERT — 2 N— IBISH —F

2

0128118108 (£) 9EIEER4H

miit*iﬁﬁﬁlﬂﬁﬁﬁéﬂﬁtb—zc 1+— 5% —#K& \ (xi] 2 \ (Eamml — | & (&) 14000 &
[AE4£] 1% :160,000  ~ 23#%:32,000 ™  33%&:16,000 M . 43&:12,000 57 :4,000 §
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o TIPS :30. - . — 2ILE— (KiR)
1178 T A FILk—"T # 6 %0 1(%))1 4-1 39.3 6 (43;) pn)d 7
LA —JIh7x B:UFLT—4 B Ex
> - \ = # 5 | BEAEZ 1:30.2 1-2 3.7 — 4 495 |HEDSR (BERE)
2|8[10| ¥ ¥ 1 =—F=>7— 6.0 (7€) oy | e
VL KYIYRIR BA1ET9— Ky s
- Py . ; _ BE KR
3 0| TLI=Ty 2L it 5 o (17;35?% 5-4 39.2 1 <4+535) g
L:Hosa—LIb BiL—TFAA b [k e
N TR — : — — WEEEAE (B%R)
3lzl7|T1vh=UT it 3 e 1@30%)2 8-6 38.5 3 (4_3;8) Pt
R:VPRYTYZAIR BT RIA4 YT 2Tl () HAa-KL—Ya>AET7
VTN ) t 6 | FMtEEA 1:30.5 3-5 39.7 — 2 413 | =EHEE (KR)
50111 aA2/Ny bRy b ¥ *6.0 ) ) %) wrlxy k
R:av d—4F—7 B:xUyIXT b cGLlbe
; o4 | BOB— 1:30.5 6-6 39.1| — 7 474 | R EE%E (KR)
] 4| L—% 56.0 (7€) 5 | B x=257
LY Ry —NN— B:TYEXZXTAI =ty ae: )
S B4 | AFHE 1:30.7 2-3 40.0| - 5 395 |/NEREEE (EER)
7189 | F—773U— 54.0 ) (-3 | B x=257
Ry TELAVF— B:¥x—v3A =3
- LA : — — KF0ERA (B
8l5l5|vamrrzr—t i 5 o 1.(331).2 6-8 39.7 9 <4+172) A
RIAYCTLRNY BT RXA— b tTie
- T Fia— :31. - . — HHEF (KiR)
9 6 FLT TS 4 4 ol 1(311)4 9-9 39.6 8 :1:130) T e
R:TITRATZA4 N B:FLIN=-F<> [sd=tie]
N EiniEE = = = = = — | EEBE (BE
W - B EESAUESS G-\ ) ) |mHEs
R:AvLH—A>F—7 B:huh1EDY REYS
® 1—F—@EBIERL
13—7-—
2a=5"=
33—7+— [10,9,1,8,2,(4,5),7,6
40—+ — 8,10,9,2,1,(4,7),5,6
[ N5
B 8 1,390 714K 8-10 840M e E 7-8 1,100M JEE 7-8-10 5,630
B B 8 240H 2-8 430 B = 8-10 4,800 JEE 8-10-2 28,360
10 170 7-8 570M B H 8-10 20,250M 8-10-7 34,650
2 1209 2-10 380F
7 190M4 7-10 590

ABICOVWTRDTEEERROODE. TR LIV,




